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Run 4539 triggerwise, sums: All

Entrizs: 1277747

Mzan: 5149.9181 4 4.8042

Sid Dew: ETE4481 5 31143
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Run 4539 triggerwise, sums: Beam ON, Laser ON

|_I-|I-L"‘r'-—'l||||||

—— Helicity==0
— Helicity==1

Endries: 411238

Mizan: S358.0470 +- B354

5id Dew: STEATTH + B.336E

Eniries: 410850

Maan: £027.5646 +/- 9.0000

Std Dew: 5TT0LT042 4+ B.3651
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Run 4539 triggerwise, sums: Beam OFF
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Endtrizs: 785

Mzan: 13766804 4 2DE1ED

Sid Dwrw: 5778231 +0- 14.57T2
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Run 4539 triggerwise, sums: Beam ON, Laser OFF
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— Helicity==0
— Helicity==1

Endries: 219342

Miran: 23907658 + 49934

Sed Dwrw: ZR3E.9425 40+ 3.5302
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